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How Much Do You Know

1. Which of the following is the correct

simplification of the expression

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_DfD2HzoikhDl


 where  ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(2i − 3) − (6 + 4i), I = √ − 1)

−9 − 2i

−9 + 6i

−7 − 4i

3 + 6i

https://dl.doubtnut.com/l/_DfD2HzoikhDl


2. Given that  which of the

following is equivalent to

 ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

i = √−1,

(6i
2 − 7i) + (3 + 6i)

6i
2 + i + 3

−3 − i

−9 − i

10

https://dl.doubtnut.com/l/_SSUvOsKbTvHz


3. Which of the following is equal to

?

A. 16

B. 86

C. 

D. 

Answer: D

Watch Video Solution

(17 + 7i)(3 − 5i)

16 − 64i

86 − 64i

https://dl.doubtnut.com/l/_3yTYiPHyJU4F
https://dl.doubtnut.com/l/_16jIzexwmXgw


Try On Your Own

4. If the expression  is written as the

complex number  where a and b are

real numbers, then what is the value of a ?

(Note: 

Watch Video Solution

2 − i

2 + i

a + bi,

i = √ − 1)

1. Given that  what is the sum of the

complex numbers  ?

i = √−1,

(21i
2 − 12i) + (3 − 5i)

https://dl.doubtnut.com/l/_16jIzexwmXgw
https://dl.doubtnut.com/l/_74zwCT5w83bZ


A. 7

B. 7i

C. 

D. 

Answer: C

Watch Video Solution

−18 − 17i

24 − 17i

2. What is the result of the multiplication

 ? (Note: (5 − 6i)(3 + 3i) i = √−1)

https://dl.doubtnut.com/l/_74zwCT5w83bZ
https://dl.doubtnut.com/l/_WiK42EWq8yjw


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

33 − 3i

23 − 3i

11 − i

−6

3. Which of the following is equivalent to

 ?
38 + 18i

4 + 6i

https://dl.doubtnut.com/l/_WiK42EWq8yjw
https://dl.doubtnut.com/l/_4UJRD58qT6Qe


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

− 3i
11

13

5 − 3i

+ 3i
19

2

44 + 300i

4.  


If the expression above is expressed in the

7 + i

8 − i

https://dl.doubtnut.com/l/_4UJRD58qT6Qe
https://dl.doubtnut.com/l/_VFlUgcljEECq


form  where  what is the

value of b ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

a + bi, I = √−1,

−1

3

13

11

13

15

64

https://dl.doubtnut.com/l/_VFlUgcljEECq


5. If the expression  is written in

the form  where a and b are real

numbers and  what is the value of

a ?

Watch Video Solution

−3I
2 + 2i

2 + i

a + bi,

I = √ − 1,

6.  


For  the expression above is equal

to which of the following complex numbers ?

A. 

25i
2 − 9

5i + 3

I = √ − 1,

5i − 3

https://dl.doubtnut.com/l/_7I3Ct6xjuyFm
https://dl.doubtnut.com/l/_pKzlVQiw3Qnk


B. 

C. 

D. 

Answer: A

Watch Video Solution

5i + 3

16i − 9

80i − 48

7.  


Given that  what is the value of

the expression above ?

(3 + 4i) − (2 + 3i)

I = √ − 1,

https://dl.doubtnut.com/l/_pKzlVQiw3Qnk
https://dl.doubtnut.com/l/_WsuDk2enSJrY


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1 − i

1 + i

1 + 7i

5 + 7i

8.  


If the expression above is expressed in the

3i + 2

− i − 3

https://dl.doubtnut.com/l/_WsuDk2enSJrY
https://dl.doubtnut.com/l/_CQBBdA6yjSb1


form  where  what is the

value of b ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

a + bi, I = √ − 1,

−0.7

0.7

−0.9

0.9

https://dl.doubtnut.com/l/_CQBBdA6yjSb1


9. Which of the following expressions is

equivalent to the expression above, assuming

that  ?

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

I = √ − 1,

1

5

5

7

13 + 18i

20

13 + 18i

29

https://dl.doubtnut.com/l/_lrvWFn4Tb4Wl


10. If the expression  is rewritten as a

complex number in the form of  what

is the value of a ? (Note 

Watch Video Solution

1 + 2i

4 + 2i

a + bi,

i = √ − 1)

11. Given that  what is the product

of  ?

A. 

B. 

I = √ − 1,

and
2 − 4i + 2i

2

2

1

1 − i

−1 + i

−1 − i

https://dl.doubtnut.com/l/_WEu3LtUx4tnt
https://dl.doubtnut.com/l/_sdbBhP1IecgD


Arithmetic Operations With Complex Numbers

C. 

D. 

Answer: C

Watch Video Solution

1 − i

1 + i

1. Which of the following complex numbers is

equivalent to  ?
2 + I

3 + 5i

https://dl.doubtnut.com/l/_sdbBhP1IecgD
https://dl.doubtnut.com/l/_q6D2fPX2wyNQ


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

+
2

3

i

5

−
2

3

i

5

+
11

34
7i

34

−
11

34
7i

34

https://dl.doubtnut.com/l/_q6D2fPX2wyNQ

